HOMEWORK #1
Question # 1
Indicate whether each one of the following statements is either True or False according to FORTRAN. 

	FALSE
	Logical values can be compared using relational operators.

	
	Character variables cannot be used in a program without declaring them. 

	
	“END” statement indicates the logical end of the program. 

	
	There is no difference between character variables and character constants.

	
	The maximum length of a variable name is six characters.

	
	If an operation involves integer and real operands, the type of the result would be real.

	
	Columns 1-5 are used for labels or statement numbers.

	
	A variable name can start with an alphabet or a number.

	
	FORTRAN is a low-level programming language.

	
	Fraction part is truncated in integer mode operation


Question # 2

   Find the value for the following expressions:

	exprression
	VALUE

	4*(30/4.0– 1.5)*1.5 – 6.5
	

	24*3/2*1.5-5*2.5 -18
	

	108/4*1.5+3.0 / 2 – 3*1.5
	

	3**2**2–67/10 * 9.0 – 2.5
	


Question # 3
 Given that X = 5.0, Y = -7.0, Z = 3.0, and FLAG =.FALSE., evaluate the
 following expressions 

	exprression
	VALUE

	Z*X.GT.4/7 .AND.Y-Z.LT.X.OR.FLAG
	

	X/Y.GT.Z.AND.Y.GE.X.OR.X-Y.GT.Z
	


Question # 4
   a)Convert the following algebraic expression to FORTRAN expression:


   b)Convert the following algebraic expression to FORTRAN expression:

Question # 5
   What will be the output of the following program?

REAL X, Y

INTEGER Z

READ*, X, Y

READ*, Y, Z

READ*, X, Y, Z

PRINT*, X 

PRINT*, Y 

PRINT*, Z 

END

    The input is

  
3.0      4.0   

 
9.5 

8        10       7.5

3        12.0     7      5

Question # 6
 The cost of shipping a parcel to a destination in a particular zone is
 based on the following table:

	ZONE CODE
	COST PER KG (RIYALS)

	1
	1.50

	2
	2.75

	3
	3.25


Write a program which prompts for and reads a zone code and the weight of a parcel in kilograms and prints the corresponding shipping cost for that parcel. 
Question # 7
A quadratic equation (AX2 + BX + C = 0) can be solved with the following formula:
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Write a program, which will prompt for and read values for A, B, and C and give appropriate message for following conditions:

· If A = 0 then equation given is not a quadratic equation and calculation CANNOT be done because it will result in DIVISION BY ZERO.

· If (B2 – 4AC) < 0 then THE EQUATION HAS NO REAL SOLUTION.
· If (B2 – 4AC) = 0 then THE EQUATION HAS TWIN SOLUTIONS. Display the solution.

· If (B2 – 4AC) > 0 then THE EQUATION HAS TWO SOLUTIONS. Display the solutions.
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